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ENGLISH LANGUAGE

Directions (Q. 81-85): In each of the following sentences
there are two blank spaces. Below each sentence there
are five pairs of words denoted by numbers 1), 2), 3), 4)
and 5). Find out which pair of words can be filled up in
the blanks in the sentence in the same sequence to make
it meaningfully complete.

81.Itis ____ that in the present system there is neither

justice nor to law.

(1) Disgusting, practice

(3) unethical, subject

(4) unfortunate, adherence

(5) strange, concept
82. The war will have far-reaching

(1) Implications, distant

(2)Consequences, entire

(4) Objective, across

(5) destruction, disturbed
83. The police has not demonstrated any measure of

____in with street protests.

(1) Sympathy, tackle (2) Mercy, fighting

(3) Case, confronting (4) Atrocity, curbing

(5) Restraint, dealing
84. Proper _____needs to be taken to protect the green

cover ___rocks and hillocks.

(1) presentation, amidst  (2) planning, covering

(3) attention, across (4) action, around

(5) consideration, across
85. In the last few years the _____

taken a

(1) quality, nosedive (2) stature, u-turn

(3) infrastructure, backseat (4) area, vastness

(5) shape, twist
Directions (Q. 86-95): Read the passage given below and
answer the questions that follow based on the
information given in the passage.

IN GORILLA society, power belongs to silverback
males. These splendid creatures have numerous status
markers besides their back hair: they are bigger than
the rest of their band, strike space-filling postures,
produce deeper sounds, thump their chests lustily and,
in general, exude an air of physical fitness. Things are
not that different in the corporate world. The typical
chief executive is more than six feet tall, has a deep
voice, a good posture, a touch of grey in his thick,
lustrous hair and, for his age, a fit body. Bosses spread
themselves out behind their large desks. They stand tall
when talking to subordinates. Their conversation is
laden with prestige pauses and declarative statements.
The big difference between gorillas and humans is, of
course, that human society changes rapidly. The past
few decades have seen a striking change in the

(2) Shameful, respect

for the __region.

(3) Spell, diverse

of administration has
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distribution of power—between men and women, the
West and the emerging world and geeks and non-geeks.
Women run some of America’s largest firms, such as
General Motors (Mary Barra) and IBM (Virginia
Rometty). More than half of the world’s biggest 2,500
public companies have their headquarters outside the
West. Geeks barely out of short trousers run some of the
world’s most dynamic businesses. Peter Thiel, one of
Silicon Valley’s leading investors, has introduced a
blanket rule: never invest in a CEO who wears a suit. Yet
it is remarkable, in this supposed age of diversity, how
many bosses still conform to the stereotype. First, they
are tall: in research for his 2005 book, “Blink”, Malcolm
Gladwell found that 30% of CEOs of Fortune 500
companies are 6 feet 2 inches or taller, compared with
3.9% of the American population.People who “sound
right” also have a marked advantage in the race for the
top. Quantified Communications, a Texas-based
company, asked people to evaluate speeches delivered
by 120 executives. They found that voice quality
accounted for 23% of listeners’ evaluations and the
content of the speech only accounted for 11%.
Academics from the business schools of the University
of California, San Diego and Duke University listened to
792 male CEOs giving presentations to investors and
found that those with the deepest voices earned
$187,000 a year more than the average.
Physical fitness seems to matter too: a study published
this month, by Peter Limbach of the Karlsruhe Institute
of Technology and Florian Sonnenburg of the University
of Cologne, found that companies in America’s S&P 1500
index whose CEOs had finished a marathon were worth
5% more on average than those whose bosses had not.
Good posture makes people act like leaders as well as
look like them: Amy Cuddy of Harvard Business School
notes that the very act of standing tall, with your feet
planted solidly and somewhat apart, your chest out and
your shoulders back, boosts the supply of testosterone
to the blood and lowers the supply of cortisol, a steroid
associated with stress. (Unfortunately, this also
increases the chance that you will make a risky
bet.) Besides relying on all these supposedly positive
indicators of fitness to lead, those who choose bosses
also rely on some negative stereotypes. Overweight
people—women especially—are judged incapable of
controlling themselves, let alone others. Those who
“uptalk”—habitually ending their statements on a high
note as if asking a question—rule themselves out on the
grounds that they sound tentative and juvenile.
86. What can be the suitable title of the passage?

(1) The look of a leader
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(2) Age of diversity
(3) Gorilla and humans
(4) Physical fitness matters
(5) CEOs Vs Gorilla
87. What the author wants to convey by saying “age of
diversity”?
(1) There is diversity between man and woman
(2) There is diversity between young generation
and old generation
(3) There is no gender bias at global level
(4) All of the above
(5) None of these
88. According to the passage what physical qualities are
required to become CEO of a company?
(1) Height, weight
(2) Sound
(3) Height, sound
(4) Posture
(5) Both 3 and 4
89. What is TRUE according to passage?
. Good postures makes people happy
II. Physical fitness matters to become CEO
[II. Women are incapable of controlling their weight
(D) 1&1I
(2) H&III
(3) III only
(4) Il only
(5) All are true
90. Which of the following statement is false in the
context of the passage?
(1) The typical chief executive is mostly similar to
Gorillas.
(2) It is found that voice quality account for 23% of
listeners.
(3) Height, quality of sounds , posture are negative
indicators .
(4) Both (1) and (2)
(5) Both (2)and (3)
91. According to the passage , what is blanket rule ?
(1) Selected CEOs wear expensive cloths
(2) Prestigious CEOs give presentation worldwide.
(3) CEOs wearing suit should not be chosen.
(4) Both (2) and (3)
(5) None of these
Direction (92-93). Choose the word which is most
nearly the SAME in meaning to the word printed in bold
as used in the passage.
92. Uptalk
(1) Aptly
(2) Loud
(3) Talkup
(4) High
(5) Held
93. Stereotype
(1) Pattern
(2) Same
(3) Difference
(4) Example
(5) Similar
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Direction (93-94). Choose the word which is most
nearly the OPPOSITE in meaning to the word printed in
bold as used in the passage.
94. Relying

(1) Count

(2) Depend

(3) Ignore

(4) Reckon

(5) Lean
95. Spread

(1) Increase

(2) Profusion

(3) Halt

(4) Terms

(5) Scope
Directions (96-105) :- In the following passage, some of
the words have been left out, each of which is indicated
by number. Find the suitable word from the options
given against each number and fill up the blanks with
appropriate words to make the paragraph meaningfully
complete.

Marketing also (96) an environment in the
marketplace for healthy completion. Marketing efforts
get the (97) out on pricing of products and services, (98)
not only reaches the intended consumers, but also (99)
other companies competing for the consumers’ (100).
As opposed to companies that have a monopoly on
products and services that can charge almost any (101),
marketing helps keep pricing competitive for a business
to try to win over (102) before its competition does.
Without competition, well (103) companies would
continue to (104) while lesser known companies or new
companies would (105) little chance of ever becoming
successful.

96.
(1)Fosters (2)Grow (3)Develops
(4) Creates (5)Serve

97.
(1) Blow (2)Take (3)Word
(4)Show (5)Fix

98.
(1)That (2)Which (3)Who
(4)Whom (5)Where

99.
(1)Approve (2)Credits (3)Acclaim
(4)Reaches (5)praises

100.
(1)Buisness (2)Company  (3)Details
(4) Community (5)Club

101.
(1)Rate (2)Amount (3)Scale
(4)Money (5)Price

102.
(1)Customers (2)Retailers (3)Consumers
(4)Clients (5)Wholesalers
103.
(1)Known (2)Established (3)Rating
(4)Perform (5) Settled
104.
(1)Buy (2)Purchase  (3)Sell
(4)Invest (5)Bargain
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105.
(1)Visit (2)Play (3)See
(4)Live (5)Stand
Direction (106-110): Rearrange the

following five sentences (A), (B), (C), (D) and (E) in the
proper sequence to form a meaningful paragraph; then
answer the questions given below them:

(1) “What is waste of my tax money”, I thought, walking
past the people having free Californian Chardonnay.

(2) “Speak to her”, he said, “She's into books”.

(3) The friend who had brought me there noticed my
noticing her.

(4) In late 2003, I was still paying taxes in America, so it
horrified me that the US Consulate was hosting a “Gallo
drinking appreciation event”.

(5) Behind them, a pianist was playing old film tunes,
and a slim short woman was dancing around him.

106. Which of  the following would be
the Fourth sentence?
(1)B (2)A (3)E
(4)C (5D

107.Which of the following would be the First sentence?
(1)A (2)B (3)C
(4)D (5)E

108. Which of the following would be the Fifth
(Last) sentence ?

(1)B (2)A (3)E
(4)C (5)D
109.Which of  the following would be

the Second sentence ?

(1E (2)A (3)B
(4)C (5)D
110. Which of the following would be
the Third sentence ?
(1)B (2)C (3)E
(4)C (5)A

Directions (Q. No. 113-117) Which of the phrases (1),
(2), (3), (4) and (5) given below each statement should
replace the phrase printed in bold in the sentence to
make it grammatically correct? If the sentence is correct
as it is given and No correction required, mark (5) as the
answer.
111. Increased productivity necessary reflects greater
efforts made by the employees.
(1) Increase productivity necessarily
(2) Increased productivity is necessary
(3) Increased productivity necessarily
(4) Increased production necessary
(5) no improvement
112. The small child does whatever his father was done.
(1) was done (2) did
(3) had done (4) have done
(5) no improvement
113. The moment they saw me, they were delight.
(1) was delight (2) were delighted
(3) are delighted (4) being delighted
(5) no improvement
114. If he has to spend five hours in the queue, it was
really a wastage.
(1) was real a wastage
(3) is really a wastage

(2) is real a wastage
(4) isreally a waste
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(5) no improvement

115. You can always dependent on them.
(1) depend on them
(2) be dependent with them
(3) depend them
(5) no improvement

Directions (Q.116-120): Read each sentence to find out

whether there is any error in it. The error, if any, will be

in one part of the sentence. The number of that part is
the answer. If there is no error, the answer is 5).(Ignore
the errors of punctuation, if any).

116. 1) The rate on which we are /2) accumulating
information is not /3) commensurate with the rate
at /4) which our awareness is growing. /5) No
error.

117. 1) If one wants pearls /2) one has to dive deep /3)
beneath the sea or be content /4) with pebbles on
the shore. /5) No error.

118. 1) This is the way/2) to dissolving of /3) all
differences between /4) individuals, communities
and faiths. /5) No error.

119. 1) We need to /2) attune ourselves /3) to receiving
or hearing /4) the truth. /5) No error.

120.1) We need to get /2) sensitized to the way /3) we
affect /4) other fellow humans. /5) No error.

(4)depend to them
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ANSWERSHEET OF ENGLISH/COMPUTERS/GA

ENGLISH LANGUAGE

81. (4) 82.(2)
91. (3) 92. (3)
101. (5) 102. (3)
111. 3) 112. (3)
COMPUIZElI.?(g)ECTION 122.3)
131. (2) 132. (1)
141. (2) 142.(2)
151. (2) 152. (2)
GENERAL AWARENESS SECTION
161. (3) 162. (2)
171. (2) 172. (4)
181. (1) 182. (3)

191. (4) 192. (3)

83. (5)
93. (1)
103. (1)
113. (2)

123. (4)

133.(2)
143. (2)
153. (2)

163. (4)
173. (3)
183. (4)
193. (1)

84. (4)
94. (3)
104. (3)
114. (3)

124. (1)

134. (3)
144. (2)
154. (2)

164. (3)
174.(3)
184. (3)
194. (1)

85. (1)
95. (3)
105. (5)
115. (1)

125. (1)

135. (3)
145. (3)
155. (2)

165. (4)
175.(2)
185. (1)
195. (2)

86. (1)
96. (1)
106. (3)
116. (1)

126. ()

136. (4)
146. (2)
156. (2)

166. (3)
176. (1)
186. (3)
196. (2)

87. (3)
97. (3)
107. (4)
117. (3)

127. (3)

137. (1)
147. (2)
157. (2)

167. (3)
177.(3)
187. (1)
197. (2)

88. (5)
98. (2)
108. (2)
118. (2)

128. (4)

138. (1)
148. (1)
158. (4)

168. (2)
178. (3)
188. (2)
198. (4)

89. (2)
99. (4)
109. (1)
119. (5)

129. (4)

139. (1)
149. (1)
159. (2)

169. (3)
179. (2)
189. (3)
199. (3)

90. (3)
100. (1)
110. (5)
120. (5)

130. (3)

140. (1)
150. (3)
160. (1)

170. (3)
180. (3)
190. (1)
200. (3)
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NUMERICAL ABILITY

Directions (Q.41-45): What should come in place of

question mark (?).
41.2x22:2
7 5 5

OF )8 3)=
(4) 4 (5) None of these

42. (0.85% of 405) + (2.25% of 550) =?
(1) 16.7175 (2) 15.7150 (3) 13.8175
(4) 14.7125 (5) None of these

43. 916 X?x 3 = 214344
(1) 78 (2) 68 (3) 84
(4) 66 (5) None of these

44. (54679 + 5982 + 32614) — (312 X 69) =?
(1) 71528 (2) 77147 (3) 71747
(4) 61757 (5) None of these

45. (7)% + (65)? = (160)% — (90)% — 7191
(1) 75 (2)77 3)79
(4) 81 (5) None of these

46. 25.6% of 250 +/7 =119
(1) 4225 (2) 3025 (3) 2025
(4) 5625 (5) None of these

47. (52% of 3543) — (38% of 2759) =?
(1) 653.36 (2) 993.24 (3) 821.64
(4) 793.94 (5) None of these

48. 4985.23 + 4632.14-?= 4022.12

(1) 5955.25 (2) 5595.25  (3) 5295.55
(4) 5255.95 (5) None of these
49, % X (2234?) =71
(1) 342 (2) 346 (3) 345
(4) 348 (5) None of these
50.2 % 2 x 2 x?= 790
(1) 8848 (2) 8246 (3) 8484
(4) 8868 (5) None of these

51. (41)% + (38)% x (0.15)? =?
(1) 3125.0225 (2)1713.49  (3)3125.15
(4) 59204.0225 (5) None of these

52./4489 + (71)% — (?)? = 2707

(1) 39 (2)43 (3)51
(4) 49 (5) None of these

53. (47 x 588) + (28 x 120) =?
(1) 6.284 (2) 7.625 (3)8.225
(4) 8.285 (5) None of these

54. 45% of 224 X7 % of 120 = 8104.32
(1) 67 (2) 62 (3)59
(4)71 (5) None of these

55. (8.34% of 793) — (12.51% of 286) =?
(1) 33.3756 (2) 36.3657 (3)30.3576
(4) 28.3675 (5) None of these
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57.

58.

59.

60.

61.

62.

63.

64.
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Rohit starts a business with Rs.6,500 and after 8
months Shyam joins Rohit as his partner. After 4
years the profit is divided in the ratio of 13 : 12.
What is Shyam’s contribution in the capital?

1) Rs. 7400 2) Rs. 7200 3) Rs. 7250

4) Rs.7630 5) Rs. 7480

The speed of a boat in still water is 20 kmph and
the rate of current is 4 kmph. The distance
travelled by the boat downstream in 30 minutes is
1) 8km 2) 10 km 3)12 km

4) 14 km 5) 16 km

Rs. 2,000 is invested at 10% p.a. on simple interest.
If that interest is added to the principal after every
20 years, the amount will become Rs. 14,000 after
1) 15years 2) 33% years  3) 162 years

4) 40 years 5) None of these

Two trains 128 meters and 122 meters long are
running towards each other on parallel lines at 48
kmph and 42 kmph respectively. In what time will
they clear off each other from the moment they
meet?

1) 10 seconds 2) 12 seconds 3) 18 seconds
4) 14 seconds 5) 9 seconds

A boat running downstream covers 28 km in 7
hours, while for covering the same distance
upstream it takes 14 hours. What is the speed of
the boat in still water?

1) 4 kmph 2) 3 kmph
4) 5 kmph 5) 6 kmph
Ram sells a car to Mohan at a profit of 16% and
Mohan sells it to Shyam at a profit of 25%. How
much profit% Ram would have got if he had sold
the car directly to Shyam at the price Shyam
bought it?

1) 41% 2)42% 3) 45%
4)50% 5) None of these

A sum on compound interest amounts to Rs. 2410
in 3 years and Rs. 2651 in 4 years. Find the sum.

1) Rs.1216 2) Rs. 1500 3) Rs. 1900

4) Rs. 1600 5) None of these

Ajay covers distance by car driving at 60 kmph and
returns back to the starting point riding on a
scooter at 45 kmph. What is his average speed?

1) 50.12 km 2)50.6 km 3)51.52 km

4) 51.42 km 5) None of these

Two trains of length 120 m and 90 m respectively
with the same speed pass a static pole in 8 seconds
and 6 seconds respectively. In what time they will
cross each other if they are moving in opposite
directions?
1) 14 seconds

3) 4.2 kmph

2) 6 seconds  3) 20 seconds
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65.

66.

67.

68.

69.

70.

4) 7 seconds 5) None of these

A train travelling at the speed of 50 kmph leaves
from a station. Another train travelling at speed of
60 kmph leaves the same station after 7 hours in
the same direction. They will meet after what
distance?

1) 1800 km 2) 2100 km 3) 2400 km

4) 2700 km 5) None of these

A alone would take 6 hours more to complete the
job than if both A and B would work together.
When B worked alone he took 1.5 hours more to
complete the job and A and B worked together.
How much time they will take if they work

together?
1) 3 hours 2) 4 hours 3) 4.5 hours
4) 5 hours 5) none of these

A dealer bought an item at 10% discount on its
original price. He sold it at 35% more than the
original price. What percentage profit did he get?

1) 25% 2) 45% 3) 22.5%

4) 50% 5)35%

The diameter of a circle is equal to the perimeter of
a square whose area is 3136 sq cm. What is the
circumference of the circle?

(1) 352 cm (2) 704 cm (3) 39424 cm
(4) Cannot be determined (5) None of these

Cost of fencing a circular plot at the rate of Rs. 15
per m is Rs. 3300. What will be the cost of flooring
the plot at the rate of Rs. 100 per square metre?

(1) Rs. 385000 (2) Rs. 220000 (3) Rs.350000
(4) Cannot be determined (5) None of these

Area of a rectangle is equal to the area of a circle
whose radius is 14 cm. If the breadth of the
rectangle is 22 cm, what is its length?

(1) 24 cm (2) 28 cm (3) 26 cm

(4) Cannot be determined (5) None of these

Directions (Q.71-75): What should come in place of
question mark?

71.

72.

73.
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12664 34 20 14 ?

(112 (2) 10 (3)8
(4)6 (5) None of these

4 6 14 44 ? 892
(1160 (2) 176 (3)492
(4) 286 (5) None of these

10 11 13 21 69 ?
(1)382 (2) 420 (3) 424
(4) 384 (5) None of these

74.15 34 20 ? 25 43 30
(1)40 (2)39 (3)38
(4) 41 (5) None of these

75.16 8 12 30 ? 4725

(1) 105 (2) 108 (3)148 (4)
156
(5) 178

Directions (Q. 76-80): Study the following table
carefully to answer the questions that follow

Number of Gold coins (in hundred) produced in
Five Different companies during Six Different

month

Months Companies

P Q R s | T
Feb 9% 56 57 103 92

_ March | 8 | 134 [ e | 125 | u7 |

April 84 156 58 95 119
May 113 149 103 158 | 143
June 102 133 '8 149 138
July 167 147 87 122 | 127

76.

717.

78.

79.

80.

| www.careerpower.in |

What was the respective ratio between the number
of Gold coins produced from company P in the
month may and the number of Gold coins produced
from company T in the month June?

(1)38:41 (2)23:21 (3)19:21
(4)19:23 (5) None of these

What was the total number of Gold coins produced
from all the companies together in the month of
march?

(1) 53500
(3)5.15 thousand
(5) None of these
In which company the number of the Gold coins
continuously increased during the year February to
July?

(1)OnlyRand T  (2) Only Q (3) Only P
(4)OnlyQand T  (5) None of these

In which Company was the number of Gold coins
produced out in the month May highest?

(2) 51700
(4) 51500

(1)Q (2)p 3T

(4)S (G)R

Number of Gold coins produced from company R in
the month May was approximately what

percentage of the number of Gold coins produced
in the company T in the month March?

(1) 85 (2)95 (3)60
(4) 40 (5)75
www.careeradda.co.in Page 2
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QUANTITATIVE APTITUDE
41. (4) =X %100 = 45%
42. (5 20xx
- (3 62. (5); Interest on Rs. 2410 for 1 year = 2651—-2410 =
43. (1) 241
44.(3) Rate =220 _ 1004 p
42' (;) Letthe sum be x.
46. (2) ~ Amount in 3 years = xX (1 + —)3 = 2410
47. (4) o 10 10 100
48. (2) X=2410XHXHXH=R51811
2 2X60X45
45}9. EB% 63. (4); Average speed = % = :0+Zs =51.42 kmph
0.(1 120
51. (2) 64. (4); Speed of trains = ? =15m/sec
52. (4)
53. (3) and— =15m/sec
g: Eg .. Relative speed =15 + 15 =30 m/sec
) 120+90 210

56. (2) Letshyam’s Contribution = X’ Rs. *. Time = 30 = =7 seconds

~ Ratio of theiri t tin4

_ 6;()1854x1e;r-1)r(1:/<250men A years 65. (2); Let the required distance be x km.

’ X X
13:12=7800:X .'.%—%=7
12

LX= X 7800 = 7200 Rs. . BX=5X _

57.(3) Total distance = Resultant velocity X Time 300

= (20 + 4) x % 24x %: 12 km.
2000x20x10_

58. S. 1 after 20 years = oo - 4000

=~ New principle = 2000 + 4000 = 6000
Now, Let after ‘t’ years the amount become
14000—6000 = 8000

6000XTX10
8000 = ——
100
. 8000X100 _ 40
~ Time t= = —years.
6000X10 3
. 40 _ 100 1
~ Total time = 20+? === 33 5 years

59. (1) Total distance = 128+122 = 250 meter
And Resultant Velocity = 48 + 42 = 90km
= 90% 15—8 =25 m/s.
« Time to cross each other = 22= 10 Second

25

60. (2) Letspeed of boat be ‘v’ and, of stream be ‘X’
For downstream, V+ U = ? =4km/hr — (I)

& for ups stream, V—-U = 2=2 km/hr — (II)

14
From (I) & (II),
V =3 km/hr.

61. (3) Let cost price be = ‘X’ Rs.
2 SP=Xx o x i = X

100~ 100 20
24X

~ Profit % = 22— x 100

X

. x=300x7=2100 km
66. (1) time taken by both together = 3 hours
67. (4) Let the original price be Rs 100.
So he bought it at 10% discount i.e. Rs 90 and sells
it at 35% more than the original rate i.e. Rs 135.
Actual profitis 135 - 90 = Rs 45
.. % profit = %Xmo =50%
68. (2); Area = (side)? = 3136
Side=56
Perimeter of square= 56 X 4

56x4 =112

R=Radius of circle=

Circumference= 2 X g X 112 =704

69. (1); Circumference of circle= 39 =220

15
2nr = 220
r =35
Area= mr? = 3850
Cost= 3850 x 100 = 385000
70. (2); Area of Circle= 2nr

=2><2—72><14=616
Ixb=616

1=22=28
22
71. (1); Difference between number are 62, 30, 14, 6, 2

72.(2);4x14+2=6



6x2+2=14
14x3+2=44
44x4+2=178
178 x5+ 2 =892

73. (4);1x2 =2
2x4=8

8x6=48

74.

75.

76.
77.
78.
79.
80.

4 x8 =384

(2); These are two series mix 15, 20, 25,

20 and 34, 39, 43

(1); 16 x0.5=8,8x15=12,12 x 2.5 =130,30 X
3.5 =105,105 % 4.5 = 472.5

(4); 114 : 138=19: 23

(2)

(5)

(4)

(1); 85 (approx)
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REASONING APTITUDE

Eight friends P,Q,R,S,T,V,W and Y are sitting around a
square table in such a way that four of them sit at four
corners of the square while four sit in the middle of each
of the four sides. The ones who sit at the four corners
faces the centre while those who sit in the middle of the
sides face outside. S sits third to the right of P. P faces
the centre. Y is not an immediate neighbor of P or S. T
sits third to the right of R. R doesnot sit in the middle of
any of the sides and also R is not an immediate neighbor
of Y. Only one person sits between P and V. Q is not an
immediate neighbor of V.
1 .If all the persons are made to sit in alphabetical order
in clockwise direction, starting from P, the positions of
how many (excluding P) will remain unchanged as
compared to their original seating positions?

A) None B) One C) Two

D) Three E) Four
2. Which of the following is true regarding Y?

A) T is not immediate neighbor of Y

B) Y sits in the middle of one of the sides

C) R sits second to left of Y

D) P and V are immediate neighbors of Y

E) None is true
3. Who amongst the following sits fourth to the left of V?

A)Y B)R QT

D)Q E)W
4. What is the position of Q with respect to R?

A) Immediately to the left

B) Second to the left

C) Third to the left

D) Third to the right

E) Immediately to the right
5. Four of the following five are alike in a certain way
and so form a group. Which is the one that does not
belong to the group?

A)T B) W

D)S E)Q
Directions (6-10): Study the information carefully and
answer the following questions:
A building has eight floors from 1 to 8 in such a way that
ground floor is numbered 1, the above floor is
numbered 2 and so on. The top most floor is numbered
8. Eight persons G, P, M, R, Q, A, D and C are staying each
on one of these floors. A is staying on floor 6. There is a
gap of three persons between G and R. C is staying on
the topmost floor. Neither P nor M is staying on the floor
5. Q is staying middle of P and M. R is staying on the
floor 1. M is not an immediate neighbor of G.
6. Who is staying on the floor no. 77

1A 2)P

4 R 5 M
7. How many persons are staying between D and P?

1) Three 2) Four 3) Two

C)V

3)D
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4) One 5) None of these

8. Who is staying on the second floor?
1)Q 2)M 3)P
4)A 5)QorM

9. If all persons are arranged in alphabetical order such
as A occupies floor 1 then who will occupy floor 57

)G 2)Q 3)R

4 M 5)P
10. Immediate neighbors of the person who is staying in
floor 3?7

1)Rand P 2)Aand P

4)Pand M 5)Dand G
Directions (11-15) Study the following information to
answer the questions.

Twelve people are sitting in two parallel rows
containing 6 people each, in such a way that there is an
equal distance between adjacent persons. In row-1 P, Q,
R, S, T, and U are seated and all of them are facing south.
In row-2 A, B, C, D, E and F are seated and all facing
North. Therefore in the given seating arrangement each
member seated in a row faces another member of the
outer row.

S sits third to right of Q, either S or Q sits an extreme
end of line. The one who faces Q sits second to right of E.
Two people sits between B and F. Neither B nor F sits at
an extreme end of the line.The immediate end of line.
The immediate neighbour of B faces the person who sits
third to left of P, R and T are immediate neighbours of
the each other. C sits second to the left of A. T does not
face the immediate neighbour of D.

11. Who amongst the following sits at the extreme ends
of the rows?

3)Gand M

(@)s,D (b)Q A (9 U,F
(dQE (e)P,D

12. Who amongst the following faces S?
(@A (b)B (g C
(dD (e) F.

13. How many persons are seated between U and R?
(a) One (b) Two (c) Three
(d) Four (e) None.

14. Which of the following is true regarding T?
(a) F faces T
(b) U is an immediate neighbour of T
(c) F faces the one who is second to right of T
(d) T sits at one of the extreme ends of the line
(e) Q sits second to the right of T.
15. Four of the following five are alike in a certain way
based on the given arrangement & so form a group
which is the one that does not being not being to

that group?

(a) A-T (b) B-T
(c) F-P (d)c-u
(e) E-Q.
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Directions (26-30): Study the following arrangement
carefully and answer the questions given below—
1RZT4A9$DF1U#B#8HI©OXMH32P$5NP
6D
16. How many such consonants are there in the above
arrangement, each of which is immediately
preceded by a consonant and immediately followed
by a number?
(1) None (2) One (3) Two
(4) Three (5) More than three
17. How many such numbers are there in the above

arrangement, each of which is immediately
preceded by a letter but not immediately followed
by a symbol?

(1) None (2) One (3) Two

(4) Three (5) More than three

18. How many such vowels are there in the above
arrangement, each of which is immediately followed

by a symbol?
(1) None (2) One (3) Two
(4) Three (5) More than three

19. Four of the following five are alike in a certain way
based on their positions in the above arrangement
and so form a group. Which is the one that does not

belong to that group?
(1) RTA (2) 9DF (3) ##H
(4) 5PD (5) IXH

20. Which of the following is the fourth to the left of the
twelfth from the left end?
(1) % 2)$ 3)2
(4)H (5) None of these
Direction (36-40): In these questions, relationship
between different elements is shown in the statements.
These statements are followed by two conclusions.
Mark answer
1) If only conclusion I follows.
2) If only conclusion II follows.
3) If either conclusion I or II follows.
4) If neither conclusion I nor II follows.
5) If both conclusions I and II follow.
21. Statements: X>P>Q>R, X=Y,X<Z
Conclusions: . Y >R ILR>Z
22. Statements: P>Q,S<T,X=Y,X>7Z
Conclusions: .S=Q I.X>Q
23. Statements: S<T, T>R, T=W

Conclusions: [.R< S I.S<W
24. Statements: X=Y<Z>W
Conclusions: . Z =X II.Z>X

25. Statements: S>R,Y=X<7Z,S<Y
Conclusions: I. Y >R II.LR>Z

Directions (Q.21-25): In each question below are given
three statements followed by four conclusions
numbered I, II, III and IV. You have to take the given
statements to be true even if they seem to be at variance
with commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements, disregarding
commonly known facts.
26. Statements: a. Only copies are books.
b. No copies are pens.

c. Only dusters are pens.

www.bankersadda.com | www.sscadda.com

| www.careerpower.in

Conclusions: I. All books are copies.
I1. All pens are dusters.
[1I. All dusters are pens.
IV. No books are pens.
1) All follow 2) Only III and IV follow
3) Only I and II follow
4)Only [, [l and IV follow 5) None of these
27. Statements: a. Only cars are motorcycles.
b. No motorcycles are bikes.
c. Some bikes are scooters.
Conclusions:
[. Some bikes are cars. I1. No bikes are cars.
[1I. Some scooters are not motorcycles.
IV. No bikes are motorcycles.
1) Only III and IV follow
2) Either I or II, IIl and 1V follow
3) Only either I or II follows
4) Only II, IIT and IV follow
5) None of these
28. Statements: a. All pens are pencils.
b. No pencil are clips.
c. No pencils are dusters.
Conclusions:
I. Some dusters are not pens.
II. Some pens are not clips.
[1I. All pencils are pens.
IV. Some pens are pencils.
1) Only I, Il and IV follow
3) All follow
5) None of these
29, Statements:a.

2) Only IV follows
4) None follows

All erasers are pens.
b.All erasers are dusters.
c. Some erasers are sharpeners.

Conclusions:

I. Some pens are not sharpeners.

[1. Some duster are not sharpeners.

[1I. No dusters are pens. V. All pens are dusters.

1) None follows 2) Only [, IT and III follow

3)Only [, [1 and IV follow  4) Only I and II follow

5) None of these
30. Statements: a. Some horses are dogs.
b. All dogs are cats.
¢. No cats are rats.

Conclusions:

I. Some horses are not cats. II. Some dogs are rats.

I1I. No horses are rats.

[V.Some rats are not horses.

1) None follows

3) Only I and II follow

5) None of these
Directions (Q.26-30): Study the following information to
answer the given questions.

In a certain code language ‘firefighters are army
men’ is written as ‘tee mee kee’, ‘courageous people are
army men’ is written as ‘kee loo nee tee’, ‘courageous
being enthusiastic’ is written as ‘loo pee jee’, people are
enthusiastic’ is written as ‘kee nee pee’ and ‘positive
people are unpleasant’ is written ‘nee kee dee see’.

31. What is the code for ‘being’?
1) loo 2) jee 3) kee
4) pee 5) None of these

2) All follow
4) Only II and III follow

| www.careeradda.co.in Page 2


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careeradda.co.in/

32. Which of the following may be the possible code for
‘unpleasant firefighters are positive’?
1) dee see tee mee 2) dee see kee mee
3) see tee mee kee 4) dee see jee lee
5) None of these
33. What does ‘pee’ stand for?
1) courageous
3) army men
5) None of these
34. Which of the following is represented by the code
‘see jee tee pee dee kee 100’?
1)unpleasant armymen enthusiastic being are
positive firefighters
2)unpleasant armymen enthusiastic courageous
positive are being
3) unpleasant armymen being enthusiastic are
positive people
4) unpleasant armymen being enthusiastic people
5) None of these
35. Which of the following is the code for ‘firefighters
armymen belong to positive people’?
1) tee kee cee que loo dee
2) mee cee loo dee kee see
3) mee tee cee loo dee kee
4) mee tee kee cee que dee
5) Can’t be determined
Instructions (30-34) : In each of the questions given
below, one question and below it two statements I and Il
are given. You have to determine whether the data given
in the statements is sufficient to answer the question or
not.
Answer (1) if the data given in statement I is sufficient
to answer the question whereas data given only in
statement Il is not sufficient to answer the question.
Answer (2) if the data given only in statement II is
sufficient to answer the question whereas data given

2) positive
4) enthusiastic
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only in statement I is not sufficient to answer the
question.
Answer (3) if the data given either only in statement I or
only in statement II is sufficient to answer the question.
Answer (4) if the combined data given in statement I
and statement Il are not sufficient to answer the
question.
Answer (5) if the combined data given in statement I
and statement II are necessary to answer the question.
36. In which month of the year did the construction of
the building begin?
[. The construction engineer correctly remembers
that the construction began before September but
after May and that particular month did not have 31
days.
[I. The builder correctly remembers that the
construction began after February but before
October and the fact that, that particular month did
not have 31 days.
37. Each of A, B, C, D and E are of different heights. Who
is the third tallest among these ?
L.E is only shorter than B.
[1.C is only taller than A.
38. How many sisters does K have?
[.M is sister of K.
[.Mother of K has three children.
39. In a row of thirty students facing north, what is the
position of R from left end?
I.There are twelve students between R and Q.
IL.T is tenth from right and there are sixteen
students between T and R.
40. How is "go’ written in a code language?
L.In that code language "go over there' is written as
'padana’
[LIn that code language “go and sit' is written as ‘sa
ka pa'.
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1.(A)
2. (C)
3. (A)
4.(E)
5. (C)

6-3
7-3
8-2
9-4
10-4

Floor No. Person

=N WUV
mzlolwalxon

REASONING SOLUTIONS

11. (e)
12. (a)
13.(b)
14. ()
15. (e)

Solution for Q.(11-15):

Solutions (16-20):

16. (5) There are 4 such combinations - ZT4, DF1, MH3,
NP6.

17. (5) There are 4 such combinations - T4A, F1U, H32,
P6D

18. (3) There are 2 such combinations - U#, 1©.

19. (2) Except 9DF, every other combination has a gap
of one position between each letter in the
arrangement.

20. (2)

Solutions (21-25):
21. (1)
22. (4)
23. (4)
24. (3)
25. (1)

(26-30)
26. (4)




29. (1)

30. (1)

(=) F
S
(31-35)

are — kee
armymen — tee
firefighters — mee
enthusiastic — pee
people — nee
courageous — loo
being — jee
positive/unpleasant — dee/see

31. (2)

32.(2)

33.(4)

34. (2)

35.(5)

Directions (36 - 40)

36. (1) Only I is sufficient.

37. (5) D is third tallest among these.

38. (4) It cannot be determined from both the
statements that how many sisters K have.

39. (2)

40. (5) Code for go is ‘pa’.
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GENERAL AWARENESS

161.IMF recently included which country’s currency in
its basket (SDR)?
1. Lira
3. Yuan (Renminbi)
5. None of these
162.NHB is the subsidiary of

2. Russian rubal
4. Japanese Yen

1. NABARD 2.RBI 3.SEBI

4. SIDBI 5. None of these
163.Davis Cup 2015 winner

1.Iran 2. India 3. China

4. Great Britain 5. None of these
164. Currency of Nigeria

1. Lira 2.Yuan 3. Naira
4. Dollor 5. None of these
165.In RIDF R stand for
1. Real 2. Reel 3. Ramified
4. Rural 5. None of these
166. First Indian Scientist Bhart Ratna awardee in 1954
1. 2. 3. C.V.Raman
4, 5. None of these
167.Nai Manzil Scheme is related to
1. 2.

3. to bridge lack of skills in minorities

4.to 5. None of these
168.India’s first Credit Information Company

1. CRISIL 2. CIBIL 3.ICRA

4. ONICRA 5. None of these
169. First Micro Finance Company Fully Subsidies of ?

1. Kotak Mahindra 2. Muthoot Finance

3. BANDHAN 4. 1DFC 5. None of these
170.Mount Abu located in Which state

1. Uttar Pradesh 2. Madhya Pradesh

3. Rajasthan 4. Uttarakhand 5. None of these
171.Dachigam National park located as

1. Uttarakhand 2. Jammu and Kashmir

3. Madhya Pradesh 4. Uttar Pradesh

5. None of these
172.UNU head quarters located at?

1. USA 2. China

4.]Japan 5. None of these
173.25% January celebrated as?

1. National Human Rights Day

2. National Girls Child Day

3. National Voters Day

4. Rabies Day 5. None of these
174.Commonwealth's new Secretary General

1. Kamalesh Sharma 2. Rohit Sharma

3. Patricia Scotland 4. B shah

5. None of these
175. Bricks Media Summit Held in

1. Shanghai, China 2. Beijing, China

3. Ufa, Russia 4. Hyderabad, India

3. London
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5. None of these
176.1IDFC head Quarters

1. Mumbai 2. Kolkata

4. Chennai 5. None of these
177.Sunil Narayan play for which country

3. Tamilnadu

1. Pakistan 2. Australia 3. West Indies
4. India 5. None of these
178.In Domestic systemically banks one is D-ICICI and
anotheris........c....... ?
1. D-ICICI 2. D-Vijaya Bank 3.D-SBI

4.D-PNB 5. None of these
179.Which bank has recently closed its business
1.RBS 2. HSBC Holdings Plc ~ 3.ICBC
4. Standard Chartered PLC 5. None of these
180.CRAR full form
1. Capital to Reel (Weighted) Assets Ratio
2. Capital to Real (Weighted) Assets Ratio
3. Capital to Risk (Weighted) Assets Ratio
4. Capital to Reset (Weighted) Assets Ratio
5. None of these
181.MUDRA Bank is a subsidiary of SIDBI. But it will be
converted into a by passing Parliament
ACT?
1. BANK
3. Subsidiary of NABARD
5. None of these
182. Atal Pension Yojna Replaces which Scheme?
1. Swabhiman Yojana 2. New Pension Yojana
3. Swavalamban Yojana
4. Provisional Provident Fund
183. Mahatma phule Sant award 2015
1. Kiran vedi 2. Usha Kshetrapal
3. Reetu Kulkarni 4. Arundhati Roy
5. None of these
184.India’s literacy rate as per census 2011

2. Subsidiary of RBI
4. Subsidiary of BCSBI

5. None of these

1.72.04% 2.71.03% 3.74.04%
4.69.56% 5. None of these

185.. Which activities performed by All Banks?
1.KYC 2.KVP 3.GMS
4. GSB 5. None of these

186.. Small Finance bank in Principal Approval for how
many months?

1. 12 months 2.16 months 3. 18 months
4. 20 months 5. None of these
187.Head Quarters of New Development Bank (NDB)
locatedat ___ ?
1. Shanghai 2. Beijing 3.Ufa
4. Tokyo 5. None of these
188. AlIB president?
1. KV Kamath 2.]Jin Liqun 3. R K Kamath

4. Vijay Kelkar 5. None of these
189. How many digits are there in PAN card?
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1. 15 digits 2. 16 digits 3. 12 digits

4. 17 digits 5. None of these
190.NEFT and RTGS Uses Which Code?
1. IFSC code 2. SWIFT code 3.MICR code

4. UTR Number 5. None of these
191.RBI monetary policy review on which basis?
1. Half yearly 2. Annually 3. Quarterly
4. Bi-monthly 5. None of these
192.. MMID full form?
1. Mobile money identity
2. Mobile money indemnity
3. Mobile Money Identifier
4. Mobile making identity 5. None of these
193.. Which of the following is the not a Public Sector
Bank?

1. IDBI 2. SBI 3.PNB
4. BMB 5. None of these

194.. Beirut is the Capital of ___?
1. Lebanon 2. Turkey 3. Poland
4. Malta 5. None of these

195.P. T. Usha is an Indian ----- from the state of Kerala?
1. Wrestler 2. Athlete 3. Badminton
4. Tennis 5. None of these

196.. Who is the 24th president of France?
1. Nicolas Sarkozy 2. Frangois Hollande
3.Jacques Chirac 4. Francois Mitterrand

5. None of these
197.. The rate of interest of Gold Monetisation Scheme
deposit will be decided by Central Government and

notified by?
1. SEBI 2. RBI 3. SIDBI
4. NABARD 5. None of these

198. Which village in Karnataka has become India's first
smokeless village?
1. Golasangi 2. Gunadal 3. Honawad
4. Vyachakurahalli 5. None of these

199.Who is Chairman and Managing Director of
Bharatiya Mahila Bank has been appointed as
Managing Director and Chief Executive Officer,
Punjab National Bank?

1. KV Kamath 2. Aditya Puri

3. Usha Ananthasubramanian

4. Chanda Kochhar 5. None of these
200.The Nobel Prize in Physics 2015 was awarded

jointly to ------ "for the discovery of neutrino

oscillations, which shows that neutrinos have

mass"?

1.Takaaki Kajita 2. Arthur B. McDonald

3. Both1 &2 4. Alice Munro 5. None of these
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ANSWERSHEET OF ENGLISH/COMPUTERS/GA

ENGLISH LANGUAGE

81. (4) 82.(2)
91. (3) 92. (3)
101. (5) 102. (3)
111. 3) 112. (3)
COMPUIZElI.?(g)ECTION 122.3)
131. (2) 132. (1)
141. (2) 142.(2)
151. (2) 152. (2)
GENERAL AWARENESS SECTION
161. (3) 162. (2)
171. (2) 172. (4)
181. (1) 182. (3)

191. (4) 192. (3)

83. (5)
93. (1)
103. (1)
113. (2)

123. (4)

133.(2)
143. (2)
153. (2)

163. (4)
173. (3)
183. (4)
193. (1)

84. (4)
94. (3)
104. (3)
114. (3)

124. (1)

134. (3)
144. (2)
154. (2)

164. (3)
174.(3)
184. (3)
194. (1)

85. (1)
95. (3)
105. (5)
115. (1)

125. (1)

135. (3)
145. (3)
155. (2)

165. (4)
175.(2)
185. (1)
195. (2)

86. (1)
96. (1)
106. (3)
116. (1)

126. ()

136. (4)
146. (2)
156. (2)

166. (3)
176. (1)
186. (3)
196. (2)

87. (3)
97. (3)
107. (4)
117. (3)

127. (3)

137. (1)
147. (2)
157. (2)

167. (3)
177.(3)
187. (1)
197. (2)

88. (5)
98. (2)
108. (2)
118. (2)

128. (4)

138. (1)
148. (1)
158. (4)

168. (2)
178. (3)
188. (2)
198. (4)

89. (2)
99. (4)
109. (1)
119. (5)

129. (4)

139. (1)
149. (1)
159. (2)

169. (3)
179. (2)
189. (3)
199. (3)

90. (3)
100. (1)
110. (5)
120. (5)

130. (3)

140. (1)
150. (3)
160. (1)

170. (3)
180. (3)
190. (1)
200. (3)
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COMPUTER

121.Windows 7 is an example of a(n)
(a) application software (b) browser
(c) Operating system (d) shareware
(e) None of these
122.A (n)....program provides access to Web resources.
(a) Web (b) ISP (c) browser
(d) URL (e) None of these
123.Which of the following is not a logic gate?
() AND  (b)NOR (c) NAND
(d) NAT  (e) None of these
124.A modem could be attached to which port?
(a) Parallel port (b) ASYNA port
(c) Keyboard connector (d) Video port
(e) None of these
125.The binary system uses powers of
(a) 2 (b) 10 (c)8
(d) 16 (e) None of these
126.Expand RDBMS.
(a) Relative Database Management System
(b) Rational Database Minimize System
(c) Relational Database Management System
(d) Relational Database Maximize System
(e) None of these
b e is a set of instructions.
(a) Hardware (b) Code
(d) Program (e) All of these
128.Which memory is nonvolatile and may be written
only once?
(a) RAM  (b) EE-ROM  (c) RAM
(d) PROM (e) None of these
129.Main storage is also called
(a) accumulator (b) control unit (c) register unit
(d) memory (e) None of these
130.In which language is a source program written?
(a) English (b) Symbolic  (c) High-level
(d) Machine (e) None of these
131.In MODEMS
(a) several digital signals are multiplexed
(b) a digital signal changes some characteristic of a
carrier wave
(c) digital signal is amplified
(d) All of these
(e) None of these
132.Which of the following can be used to control the
movement of a cursor on a video screen?

(c) Language

(a) Mouse (b) OCR (c) Card punch
(d) Joystick (e) None of these

133.Which method is used to connect a remote
computer?
(a) Device (b) Dialup (c) Diagnostic

(d) Logic circuit (e) None of these
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134.What digits are representative at all binary
numbers?
(@)o (b) 1 (c) Both (a) and (b)
(d)3 (e) None of these

135.ROM is an example of which of the following?
(a) volatile memory (b) cache memory
(c) nonvolatile memory
(d) virtual memory
136.Full form of LSI is:
(a) Low-scale Internet
(c) Low-Scale Integration
(d) Large-Scale Integration
(e) Local-Scale Integration
137. TO correct error in a program:
(a) Debugging (b) Error moving

(e) None of these

(b) Large-Scale Internet

(c) bugging (d) Delete
(e) Coding

138. Which memory is maximum in computer bits
(2)TB (b)GB (c)MB
(d)KB (e)BIT

139. Writing set of instruction to run a software
(a) Coding (b)Buffering  (c)Decoding
(d)Amplifying (e)Debugging

140. How many bits are there in hexadecimal code:
(a) 16 b)o (c)2
(d) 4 (e) 32

141.1f we have to move data from one place to another
permanently then which shortcut will be used:
(a) copy paste (b) cut paste (c) altdelete

(d) alt shift (e) none
142.Which is input in mentioned below

(a) plotter (b) scanner (c) mouse
(d) none (e) screen
143.Which is used to find any data on screen through
cursor:
(a) Jockey (b)Mouse (c)Scanner
(d)Plotter (e)None
144. Which is not Boolean in below mentioned:
(a)And (b)Plus (c)Or
(d)Not (e)None

145. HTTP full form:
(a)Hyper tool text protocol
(b)Hyper text tool protocol
(c)Hyper text transfer protocol
(d)None (e)both 1 and 2
146. Boot a system which is already on

(a) cold boot (b) warm boot (c) hot boot
(d)force boot (e)none

147.Google is a
(a)browser (b)search engine
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(c)software (d)none
148.Which is incorrect about RAM:
(a)Even in absence of power it stores data

(b)volatile
(c)is put on motherboard as memory circuit
(d)none (e)both1 &2
149.Which is not binary from below mentioned:
(2)0120211 (b)010.110 (c)101011
(d)o11111 (e)none
150.HTML full form:
(a)Heavy transfer mark up language
(b)hyper transfer make up language
(c)hyper text mark up language
(d)hyper text mock language

(e)1 and 2

(e)none

151.0racle is which type of language:
(a)High level (b)RDBMS (c)Low level
(d)none (e)system software

152.ADSL full form:
(a) Assymetric data subscriber language
(b)Assymetric digital subscriber line
(c)None
(d)Assymetric data sub line
(e)asynchronous data subscriber line
153. Which of the following is attached at the end of the
file name that defines the property of that file:
(a)File line (b)file extension
(c)file name (d)none (e)1&2
154.C++ is what type of language:

(a)DBMS (b)high level (c)low level
(d)mnemonics (e)none

155.1f we convert window xp to window 7, what do we
call it
(a)Update (b)Upgrade (c)Downgrade
(d)none (e)Patch

156. Which language is used to write internet program
(a)HTTP (b)HTML (c)None
(d)Mnemonics (e)Machine language

157.MS word is
(a) System software

(b) Application software  (c) Operating system

(d) None (e)both 1 & 2

158.Which of the following is not a font style:
(a)bold (b)italic (c)normal
(d)subscript (e)none
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159.Which is used to move to a document or page
through a web link:

(a)hypertext (b)hyperlink  (c)html
(d)http (e)none

160.Father of computer:
(a)Charles babbage (b)James Anderson
(c)Mark zukerburgh (d)Steve jobs
(e)None
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